[image: area between | y = 1+2.5 x^2\ny = -9+10 x | domain | 0<=x<=2]
[image:  integral_0^2 (10-10 x+2.5 x^2) dx = 6.66667]


[image:  integral (2.5 x^2+1-10 x+9) dx = 0.833333 x^3-5 x^2+10 x+constant]

[image: http://www3.wolframalpha.com/Calculate/MSP/MSP6941ha3gfica5bf72c0000028df6gg34f8g7c70?MSPStoreType=image/gif&s=12&w=404.&h=306.&cdf=Coordinates&cdf=Tooltips]
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[image:  integral_(-1)^2 (1+x^3) dx = 27\/4~~6.75]

[image:  integral (1+x^3) dx = x^4\/4+x+constant]

[image: http://www3.wolframalpha.com/Calculate/MSP/MSP2111g12875148f5326d000068103ga8gd2ega74?MSPStoreType=image/gif&s=44&w=385.&h=306.&cdf=Coordinates&cdf=Tooltips]и
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